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3  The set of real numbers consist of :\jAg 0 Subzeds, . tatwnal on cj -

Lywvahoonad Numlaess

» Irrational numbers have decimal values that are non-terminating and non-repeating.

»  Rational numbers can also be broken down into smaller categories. The first is integers. An

integer is (3 positiye o nfgoﬁw number Hoat dors nothave o deciimal

el des Zevo T
»  The other category of numbers is whole numbers. They are {7 {140 1S T“)n N t"h UL

and anfludres zevo.

Use the terms listed above to help you tomplete the following questions. For each question,
give a brief explanation of your answer.

1. Which of the following i an integer?
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2. Which of the following is an irrational number?
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3. Which of the following is not an integer?
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Which of the following is a rational number? (poschc me%aj;vf, Ay },m.”a% dizcarnal 2o
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Which of the following numbers is an integer but not a whole number?
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Which of the following numbers is a rat1onal number, but not an integer?
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